4.9 Slope of Perpendicular & Para
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The slope of two perpendicular
lines are opposite & reciprocal

( Flip )

Bx) yJ_2

X+ /

3

—m

+2

aha

™

We dm't

Camt abovk

llel Lines

F

;

Ha ‘jém‘c W

The slope of two parallel

lines are the‘same]

J



Ex1) Identify which 2 lines are PARALLEL:

a) y=§x+8 b) -3x+4y=44 c) y=-4 d) y-3=4
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Ex2) Identify which 2 lines are PERPENDICULAR REU,IFTEEA!.
a) y=-3 b) y-6=5x+4) 1 d) x+5y=10
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Ex3) Write the equation of the line in slope-intercept form.

a) Passing through (-2, —7) and PARALLEL to the line y =@r + 4.

Step 1: Use the given point & slope from themm SAML 5||'nF.¢a_ J: -5
P't: -2, ‘:H )] WMz--=5

XYy
Step 2: Put the point and slope in point-slope form. H -lj , = ™\ ( X=X ;)

Yyt '——5?::2)

Step 3: Distribute & get y alone for slope-intercept form.




b) Passing through (2, —4) and PARALLEL to the line y= %IH
Step 1: Use the given point & slope from the parallel line.

|
(2, -4) )y m=7
% - -
Step 2: Put the pn:inP;md slope in point-slope form. Y - Y, =m (X x')
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Step 3: Distribute & get y alone. Yy
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Try) Passing through (3, —8) and PARALLEL to the line y = 2x + 4.
(3:-8), m=2 Y-y, =m(x- %)
We§ = 2(x-3)
Y48 = 2X -6
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Ex4) Write the equation of the line in slope-intercept form and

general form.

a) Passing through (5, —=9) and PERPENDICULAR to the line
.l_‘,_p-.-'l—lﬁ-""l—-"—'“--'—'*-_p-b._.q,l_ﬁ_....___.

y=2x+3 mz L

Step 1: Use the given point & slope from the perpendicular line. (must make the
slope opposite & reciprocal : -
pe opp p ) le_q)} m____.%_

Step 2: Put the point and slope in point-slope form. fj - Lh =m(X-X '.)
P

1
y+q4 =-72( x-5)
Step 3: Distribute & get y alone.
l
5 -4 Yy+q=-3x"
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b) Passing through (5, —9) and PERPENDICULAR to the line
—2x+1
Y Ji

Step 1: Use the given point & slope from the perpendicular line. (must make the
slope opposite & reciprocal) i _
(5,-9) » m==+

Step 2: Put the point and slope in point-slope form. 3_ \j1 =Tm(X—-% 1)

~5
Step 3: Distribute & get y alone. 3 +‘$ - ’_-11 (X “5)
- _ _ 3
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Try) Passing through (4, 3) and PERPENDICULAR to the line

y={-s. T
r 3#31:1'““{__.&1) MJ--E.L}L;L
oppoil- ~ by eff
! y-3 = ’1'; (x-4) { reciprocat
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Ex5) Find the slope of each side of the triangle.

Slope of XY: ~ i

L
Slope of YZ: L

-3 :
Slope of XZ: 5

Explain why XYZ 1s a right triangle.
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